KPRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. 5"), FEBRUARY 2019\

Seat No.

03|02 ™
Paper No. II Medium : Hindi Time : 3:30pm to 5:00pm
\Pages : 32 Third Language and Intelligence Test Total Marks : 150)

Read the following instructions carefully before you answer the questions.

(1)  This question paper contains two sections. In Section I there are 1 to 25 questions of Third Language and in
Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are compulsory.

(2)  All questions carry 2 marks each.

(3) Time limit to solve the question paper is 90 minutes.

(4) Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows :
Question No. 6 Ol IOIO)

(5) Answer recorded in any other form will not be considered. Such answer will be credited with ‘Zero’ mark.
Example: (1) @ @ &

(6) Useblue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will not
be credited.

(7) Oneyou have darkened the circle as correct alternative you cannot change it.

(8) If more than one circles are darkened or overwriting is done, the answer will not be accepted.

(9) Therough work is to be done in the space given under each page or on the last page of the question paper.

(10) Ifyou do not know the answer to any question, do not spend much time on it and pass on to the next one.
Ifthe time permits you can come back to the question which you have left in the first instance and try them
again.

(11) Ifyou find any question incomplete or with error, then or not ask anything to the Supervisor or Centre
Incharge.

(12) For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

(13) The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

(14) Questions can be cancelled due to printing mistake or any other reason, on the basis of the
suggestions given by the Committee of Experts.

(15) Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.
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Section 1

3rd Language

Q. 1 to Q. 3 Read the passage carefully and answer the following questions.

Poseidon was the Greek god of the sea. He carried trident which was the symbol of his
power. He split mountains with his trident and rolled the broken parts into the sea. He had a
glittering palace in the depths of the Aegeon Sea.

1.  Who was the Greek god of the sea ?
(1) Poseidon (2) Greek
(3) Aegeon (4) Power
2.  What did Poseidon carry ?
(1) palace (2) trident
(3) depth (4) sea

3. The trident was the symbol of

(1) idea (2) depth
(3) money (4) power

4. Choose the correct punctuation mark which is not present in the given box.

o | ?

° (1) ? (2) !
3) 4) .
L
Space for Rough Work
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Complete the word register.

drum, cymbals, flute,

(1) sieve (2) stain
(3) tambourine (4) grater
Look at the greeting card. Read the message. Choose the proper date.
“Dear Teacher (1) On 5th September
We love you (2) On 15th August
So much !” (3) On 2nd October
...... Your students. | (4) On 14th November

Find out the odd term.
(1) Cucumber (2) Fenugreek
(3) Spinach (4) Coriander
Select the correct option.
The arrow shows direction.
(1) right (2) upward
(3) left (4) downwards
Select the proper action word.
share spill
curd
eat ?
(1) wash (2) cut
(3) peel (4) churm
Space for Rough Work
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10.

11.

12.

13.

She eats breakfast her parents.
(1) off (2) by
(3) with (4) at

Choose the correct alternative.

Tools used by Mechanic.
I | |
drill ? screw nuts
(1) roast (2) space
(3) cylinder (4) spanner

Select the correct answer.

How many letters should be capital in the given sentence.
ilive in aurangabad.

(1) 3 2) 1

3)0 4) 2

Solve the riddle.

I use a stethoscope and examine patients.

Whoam1?

(1) amechanic

(3) acobbler

(2) apotter

(4) adoctor

Space for Rough Work
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14.

15.

16.

17.

18.

Choose the correct punctuation mark for the given sentence.

What a great surprise.
(1) Apostrophe

(3) Comma

Complete the motto.
are our friends.
(1) Library

(3) Teacher

Arrange the numbers properly and make a meaningful word.

(2) Exclamation mark

(4) Full Stop

(2) Books
(4) School

o|lr | e | ] u

y

1 2 131415

(1) 1452673
(3) 4152637

(2) 4172635
(4) 1542637

Choose correct alternative to seek a permission.

(1) Iwill open the window

(3) Please open the window

Choose the correct option.

What time 1s it ?

(2) Open the window
(4) MayIopen the window ?

(1) Quarter past three
(2) Quarter past five
(3) Five pastthree

(4) Three past five

Space for Rough Work
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19.

20.

21.

Select the correct alternative

Let's make a for shopping.
(1) list (2) least
(3) lest (4) leest

Fill in the blank by using the correct article.

Eiffel Tower is in Paris.

(1) A (2) The

(3) An (4) No article

Look at the given picture. Choose the correct conversation.

(1) A :Thebubbles look so lovely !
B : Let's buy two.
(2) A:Here are your potatoes. Would you like to buy tomatoes ?
B : Sure.
(3) A:Please give us two full glasses.
B : Mamma, I want some ice in my juice.
(4) A :Do you like roasted corn cobs ?
B : Oh, I love them with salt.

Space for Rough Work
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22.

Select the correct option.

My number is 12. So [ am in the row.
(1) twelth (2) twelfth
(3) twelve (4) tweth
23. Complete the puzzle.
|
d (1) b,I,m
- (2) kg
g
rjajni e (3) 1,08
r
e (4) v,p,i
e
n
24. Choose the word that comes alphabetically first
(1) Tuesday (2) Friday
(3) Sunday (4) Monday
25. Choose the incorrect pair.
(1) atiny star (2) arichman
(3) arainy day (4) asharpday
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

fawmT 11
TfogHT A0

26. '&HUA, WX, WER, AW, AR’ & Ycdeh 9168 o WE WIT | M T8l ol el 9
31Ut 9Te% AR AT | 3 31efYUl 91T & We NT W THGTET 218/ shi= |1 g ? foran |

(1) = (2) = (3) 7 (4) X
W. 27 9 31 & T G=rn : Ay ¥ 7 SeAdren Ug ugE |
27. (1) AHEH (2) ufaem

(3) =t sita (4) RS
28. (1) TSTEAM : YR (2) HEWSE : 91Eu

(3) FAYSY : dHHTH (4) TR : SATHIUTS

N%E@

pr—

®
30. l—\_‘ L—\ \D%/

(D 3) 4)
31. (1) 153 (2) 136 (3) 102 4) 115
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Section II

Intelligence Test

26. Make a meaningful word taking the second letter of the given words. 'PLAY, IVY,
HENCE, SCORE, PEAR, FROG' From that meaningful word which letter will be at
the 3rd place from right ?

(1) E 2)V 3) L (4) R
Q27 to Q31 Direction: Find the odd term
27. (1) Stomach (2) Food Pipe

(3) Small intestine (4) Lungs
28. (1) Rajasthan: Gangapur (2) Mabharastra: Patane

(3) Madhya Pradesh: Bhimbetka (4) Gujarat: Langhnaj

29.

(1) (2)

) —
30. {_i::____w N Aii____ii] \\!;:><£i;/’

(1) (2) 3) 4)
31. (1) 153 (2) 136 (3) 102 4) 115
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

32. T deamfereRt § wssfeg oht SWIE ehie ©T HE&AT M ?
13,17, 25, 32, 37,7
(1) 47 (2) 42 (3) 45 (4) 46

33. ‘fa, W9, SRR, T, UIHUT, S’ T9 IERENE W TSI IIERT i STUSTT SISTaN
& vTex Temeret W T 3ifereR & ?

(1) 2 (2) 1=pH (3) 2 sfyen (4) 3 A

34, afg T R AST, WS GO, Bt Y TRl 3T TR ot He gl S o GSATer groft
HEAATE ?

(1) =reft (2) & (3) I (4) <

U. 35 & 39 ek o foTT T 2 95 o yrwara o i Ug e T ¥ | 5 e faviwand € 1 R
STeRT Tk THE d9 21l ¢ | 39 HHE ¥ S aren ug vaid # | ffya &

35. EsTelt, @O, MR

(1) Terfen (2) e (3) WTh (4) o=
36. i<, fodet, werat
(1) fo=g (2) 9= (3) whgsm (4) i
~HH| |AV| |EE
9 9
(1) (2) (3) 4)
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

32.

33.

34.

Find the number which will replace the question mark (?) in the given number series.
13,17, 25, 32,37, ?

(1) 47 (2) 42 (3) 45 (4) 46

'Give me the strength lightly to bear my joys and sorrows.' In the statement how many
times vowels have occurred ?

(1) 13 times (2) 8 times (3) 7 times (4) 16 times

If calf is called cub, cub is called lamb, lamb is called kitten, kitten is called kid, kid is
called puppy then what is the young ones of sheep called ?

(1) kid (2) cule (3) kitten (4) pup

Q35 to Q39 Direction: In each of the following question three words are given with some

common characteristics so their group is formed. Select a word from the options given,
which has the same common feature of the given group.

35. Itching, Cough & Cold, Corn,

(1) cold fever (2) cholera (3) measles (4) dysentery
36. Choir, heap, pile,

(1) humming (2) crowd (3) march (4) mile
- HH| |[AV] [EE

9 9
) (2) 3) (4)
Space for Rough Work
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sgrEen tABCDE FGHIJ KLMNO PQRST UVWXYZ

38.

39.

40.

A
ONRPA\RON

/\
C

M

(1) (2) 3) (4)
oL 42 51
4> 8 74
4 1
() S7¢ 2) 55
2 1
3) 62 4) 7§

ek Uferd W shfeT aal 3T | 2847 9 31 ¥ 32 of shuieh & | 3 Ufed o e W 1@ oot
ATt & IS AT Wt & | Ut o AT o ofter o 10 Tgfnat & | 9t 30 dfem o 7T ot
3id § i forat |

(1) 203t (2) 18 af
(3) 40 &t (4) 194f
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

/\

38. . | @

. >

m

(M) @) (3)
» ol
(1) St @ 55
G) 6% @ 7

40. In a queue Kavita's position is 28th from the start and 32rd from the last. In the same
queue Manisha is standing behind Suvarna who is standing in the middle position of
the row. In between Suvarna and Manisha there are 10 girls then what will be the

order of Manisha from the last ?

(1) 20th (2) 18th
(3) 40th (4) 19th
Space for Rough Work
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Fgmen :tABCDE FGHIJ KLMNO PQRST UVWXYZ
W. 41 9 42 o fTT G : 3 & 7E WsATeRta SRl Ut OF WET i UX SHeRT U | widfsrer Sha

feamsg T 3@ 37 vl | @ @ |
41. UI-3MTepfd
K
W_
»
A

(D (2) 3) (4)
42. UYA-3TeRfd

MPC
B TN | ChiA

(1) (2) 3) (4)
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Q41. and Q42 Direction: If the question figure is held vertical above water surface, identify
its water reflection and select the correct alternative.

41. Question

_NEN
A

»

Answer

V%Z A A

(1) (2) (3) (4)
42. Question

MPC

Answer
(1) (2) 3) 4
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

43. AT & g faama aem & fag Feren qa gt Sue 91 W o | 2 feReitiieT wem %
R 9 (G TH THERIUT H ST | S T Ie oh 918 98 [T Sl 3T THERIUT § T[T &
Tt 31 SHek ST T it T ki °F Lo gt ?
(1) g (2) ufe=m (3) SW (4) <faqo

44. whfaar, Afaar o T o W T AT 4 I8 U 28 I T df 4 a6 o T Sk SW Rl AT
e B T 2
(1) 32 (2) 40 (3) 36 4) 52

45. A9 fehehe o eaTe WAl &, TS hadcl Gkl Tl &, F9T FeaTe o hage! Tl §
AT ek FHEaTel ohl DIt THT Wl Tl § | Al herget Wer ot ahi ?
(1) AuhaTrRE (2) Had Jow (3) gEUadAY  (4) ST AW

46. M < TR Tag Wt wifereRt ¥ weAfg @t SWIE i | fug @y s ?

RHEA?QH PERQRQEA P PER K

HRAER o FHARR
6 KAFHHR @ KKK

47. 1 99 1976 =t Teriua faeme™ o ‘ot ageaa’’ e WA S ?
(1) 1 3 2001 (2) 1 3 2036 (3) 1 S 2026 (4) 1 3 2025

48. & ¢ amepfar W =g o wWe feRart 2

(1) 15 (2) 21 (3) 90 (4) 120

49. Trefataa et o Ted 98 uger |

3,11, 27, 57, 123, 251

(1) 123 (2) 57 (3) 27 4) 11
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

43.

44,

45.

46.

47.

48.

49.

During the sunrise, Vishwas started walking that time the sun was to his left. He walked
2 km and turned 90° to his right. Again he walked for a while and turned 90° to his
right, then which direction is to his left now ?

(1) East (2) West (3) North (4) South

Total ages of Kavita, Savita and Salma four years before was 28 years, then what will be
the total of their ages four years hence ?

(1) 32 (2) 40 (3) 36 (4) 52

Suyash plays cricket and football, Rajendra plays only hockey, Shailesh plays football
and Kabaddi and Deepak plays all sports except football, then who play Kabbadi ?

(1) Deepak and Rajendra (2) Only Shailesh

(3) Suyash and Shailesh (4) Deepak and Shailesh

Which group of symbols will occur at the place of question mark in the given series of
symbols ?

RHEA?RQHPERIEA?PEHR AR
O R AKR o FHARR
o KAHR @ KERR

'Golden Jubilee' celebrations of the school will be on which day whose 'Foundation
Day' is 1st June, 1976 ?
(1) 1 June 2001 (2) 1 June 2036 (3) 1 June 2026 (4) 1 June 2025

How many squares are there is the given figure ?

(1) 15 (2) 21 (3) 90 (4) 120
Find the odd term of the given number series.

3, 11, 27, 57, 123, 251

(1) 123 (2) 57 (3) 27 4 11

Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

50. |9 2015 o1 ' TdAar feaq’ aam st ar |t |99 2016 w0 Fyreror feaw’ foea feq an ?

(1) wffeaR (2) 999K (3) MR (4) TFIR

51. <t 72 armepa W gt o T o W @ wE forat & 2

(1) 1197 (2) 995 (3) 11495 4) 11493

52. e deamferent § weAfeg o T UT Shi9 E ST ATt ?

121, 169, 225, 289, ?
(1) 334 (2) 400 (3) 246 (4) 361

53. M & TE ATRiA W g W HISITUT wWrew i et faemeft, Froqst & T s & e

foene @ wqes A wan s wa Tt faened femm@ T ¥ 1 emepfa @ Fieror e U
T W5 T IO T H F A |

A HISTUT F SN oS warel faenet fora & ?
(1) 3 (2) 7 (3) 6 4) 5

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

50.

51.

52.

53.

In 2015, Independence Day was on Sunday. On which day 'Literacy Day' will fall in the
year 2016?

(1) Saturday (2) Wednesday (3) Sunday (4) Friday

Each of the alternatives given below the figure indicate the number of triangles and
quadrilaterals respectively. Observe the figure and choose the correct option.

(1) 1Tand7 (2) 9and 5 (3) 11and5 (4) 11and3
Which number will replace the question mark in the given number series.
121, 169, 225, 289 ?

(1) 334 (2) 400 (3) 246 (4) 361

In the given Venn diagram the students who clean the ground are shown in the
circle, those who clean the garden are shown in the triangle and those who
clean the classrooms are shown in the square. Observe the figure and answer
the question by choosing the correct alternative.

How many students clean only ground and the garden ?
(1) 3 (2) 7 (3) 6 (4) 5

Space for Rough Work
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gt :tABCDE FGHIJ KLMNO PQRST UVWXYZ
54. & TTE MRl W TATRIA ek foha ?

1) 7 ) 19 3) 16 4) 20
. 559 56 o ferq garem : Wt W weevepfer o T F ey A et <& vt 3o st ¥
T fAfyga o |

55. WYT-3Meh{d

LD

A
R

2/

EYENYCNRAYCENIEN
\\@ ﬁy quA Yalad

(1) (2) (3) (4)
Space for Rough Work

e
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

54. How many cubicle boxes are there in the given figure ?

Z A

<

() 7 (2) 19 (3) 16 (4) 20
QS5 and Q56 Direction: Find out the mirror image of each of the following question figure
from the alternatives given.

55. Question

D)
N

>
Rl

Answers

DIERVANE 6565
ZANANZ

\4
Vel \E|D/ \% a¢
(D (2) 3) (4)
Space for Rough Work
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Fgmen :tABCDE FGHIJ KLMNO PQRST UVWXYZ
56. UYT-IATHIA

QCY
UC

IAC-3MTRI

0)3% ¥ 391XEQ) %30

i | N L e

(1) (2) 3) 4)
57. WA | & E AT IATh{d fohe UATT o Teah! & Wal ST o8 uaid I |

(1) eT=Teresh, faema aardd, 1§ (2) 9Rd, HENIE, Flceh

o AN < 3
(3) WA, fohohe, deart@ (4) TS, TSI, T

58. wﬁﬁﬁﬁmwmw% | T ShH UETIeRT WSHTag o T UT shist ©T 3MTehfd
SR 3T W@ |

SRS
QP

(M (2)

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

56. Question

9ty

0I3¥ %319 €0 ¥3

57. Select the alternative which will match exactly to the Venn diagram given in the question.

(1) Components of food,
starchy food, Wheat

(3) Sport, Cricket, Batball

(2) India, Maharashtra, Karnataka

(4) Telangana, Rajasthan, Goa

58. In the given figures there is a specific order. Observe the order and find out the
figure to replace the question mark.

RER A

(M

Answers

) €)) 4

Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

W. 59 ¥ 63 ek o o0 T : 1 &3 T3 weeAl o uget 9 GER UR) SRl ST Hee ¥ S| & e
T a =S US| ¥ | 9 G Wil UeHATag aht SHTE U 9 ugie ferar |

59.

(4) @
@7 " o
000 %);ﬁ. {{é{:}@@ e fg’g . ?
60. | . .o |000 .
@@ OOOOOO 0OOO w 060 88 o
e e 00l [3g
¥ | < |30
155 ol fatod (At
0|70 [6°1° | |%[%0| |90 [P
(1) ) (3) (4)
61. (\/ll_ o I/\l J o0 8 J— o ?
J[ST SE
(3) S I (4) 2-[;
62. 8:504::6:7
(1) 222 (2) 216 (3) 210 (4) 209

Space for Rough Work

0302 -A 24 of 32 P.T.O.




Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Q59 to Q63 Direction: In the following question the first and second figure have a specific
relationship between them. The same relationship exists between the third and the fourth
figure. Find the correct figure from the alternatives to replace the question mark.

59. % :Monkey: :ﬁ : ?

(1) Fort (2) Lighthouse (3) Airways (4) Mine

CICKC] Rt I o 0O R
.@®® ?"V}{‘f ° g{,} ©® leo| O fﬁg o ?
60. | o N s iviviP
@ OO%OO OOOO s o9|* e
Answers
N als 0d| [0
= | < |30 | ¢ &
s
0p | 70| [691% | %% |06 [&F
(1) (2) (3) (4)
o MLEW ST 2
0| SL @21
SININ w10/ L
62. 8:504::6:?
(1) 222 (2) 216 (3) 210 (4) 209

Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

63. 241:4124::372:7?
(1) 6218 (2) 3214 (3) 6148 (4) 6281

64. 7,8,3,2,5,6,4,2,8,7,2,3,6,8,9,4, 6 S HEATHIcTe § TH 3feh o qia 918 94 3fh
T | 31k & UEer Wor faum 3k T fRat IR g € ?

(1) (2) @M (3) =R (4) T
T. 65 9 66 o feTa gom : T uvs snepfa ot ga.g, fHe™ arell S1ehfa u=id ¥ 9 @il |
65. UIT-3MeRfd ITAC- TR

(1) () 3) 4

Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

63.

64.

241 : 4124 ::372:?

(1) 6218 (2) 3214 (3) 6148 (4) 6281

In the given series, how many times even number is preceded by odd number and is
immediately followed by an even number

783,2,5,6,4,2,8,7,2,3,6,8,9,4,6

(1) two (2) three (3) four (4) one

Q65 and Q66 Direction: Find out the figures which exactly matches with the question figure

from the four alternative figures given below.

65 Question Answers

(1) (2) (3) 4)

66. Question

Answers

(1) (2)

Space for Rough Work
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et :tABCDE FGHIJ

KLMNO PQRST UVWXYZ

67. ABCDE FGHIJ KLMNO PQRST UVWXY
SURTeR 3T TR eTeRT | T T | 154t 31T i 4T ?
(1) O (2) L (3) K (4) P
68. UsHHE o T U 3T aTeil HE& Udig # | WisTe feaat |
5 3 S
&) 4 (X
7 2 45
(1) 25 (2) 10
(3) ol 4) 20
69. Teh Hichiceh AT H 2 I 5 HF 9T, 3 4 FEA A A TR 9 @ A AT 3 +2 x 7 =
fepemT ?
(1) 17 (2) 49
(3) 35 (4) 81
70. WsAfag ok T UX 3T aTell 9T vt o @ Wiste fera |
3 7 =
Q. 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235
Space for Rough Work
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

67.

68.

ABCDE FGHIJ KLMNO PQRST UVWXY

In the given alphabetical series which is the 15th letter from the right end ?
(1) O (2) L

3) K (4) P

Which number from the alternatives will replace the question mark in the box ?

5 ! S
| 4|7
7 2 45
(1) 25 (2) 10
(3) 6l (4) 20
69. In a code language 2 is called 5, 3 is called 4 and 7 is called 9 then 3 + 2 x 7=how much ?
(1) 17 (2) 49
(3) 35 (4) 81
70. Choose the correct option to replace the (?) question mark.
3 7 =
=Y 169 s
9 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235
Space for Rough Work
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sgrmen tABCDE FGHIJ KLMNO PQRST UVWXYZ

71. ek Wichiden WIS ¥ Ta = 456, o5 = 542 o 1 = 74, & A1 ' STerotel’ 91e8 o8 foran s ?
( AT ; 37k F NG AT ShH THTT &, THT & )
(1) 4747 (2) 4444

(3) 2424 (4) 2727
T. 72 73 o ToTQ G=T : 318 9 Tag o ATieTeht ol S@eht 3TRT ok W1 ol ST T |

I | G| ¥ | S |37 | & |hAlTFAHT
xBm|loe [ X[Aa]le =TI

72. ‘o visE fopm fag@ @ femamen 2

O HINQ®= @ F=RQOI|

O TINQO I »F|OR=
73 /AT [+ ] X | | & & = w o o g 2

(1) Tmes (2) T

(3) e (4) e
74. Torerer 3 qrent fisr g fore vt frrsier et srga wotam @t A o R ST 2

(1) forerss =t qeraret T | (2) 3 & Sradia ag w S |

(3) T = erfe il | (4) T Ty T & s @ UE ael ¥ e |
75. STOTEUE G A & 30 fag et § | i |t i e gt ?

(1) STerEug H =M e (2) SaEUE H HAL 7 G

(3) STOTEUE % UE 9 o faw se (4) TCTEUE T SRl ol ST
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

71.

In a code language TIN is written as 456 FIN is written as 542 and NO is written as 74
then how to write FONT is the same language ?

(1) 4526 (2) 6245
(3) 2657 (4) 2746

(Note - Letters and numbers are not necessarily in order)

Q72 and Q73 Direction: Observe the table of letters and symbols and answer the question

72.

given below:

R [T JE[MTA Joly
¥ | mlo[x]TA e |=n,

Which symbol will be used to write the word 'MAYOR' ?
OA® =X O XA R =]
OFAY =2 ) @ EHOX =&

73.  Which word will be formed by using the symbols I[ O X @ A X ﬁy?

(1) STEEMER (2) STEEMAR

(3) STEAMER (4) STAEMER
74. What will you do if your teacher appreciates the essay written by your friend ?

(1) will not talk to the teacher (2) will not talk to your friend

(3) will congratulate your friend (4) will tell everyone that only your essay is good.
75. Which activity you think is correct to prevent the water reservoir from getting polluted ?

(1) To bathe in the reservoir (2) Not to wash clothes

(3) Sit near the reservoir for toilet (4) To bathe the animals
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